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Question 1

(10 points)
Prove the converse of the ction theorem: If By,....Bx 1 = (Bx 2 C),
then Blj . B-k_]_? By FC
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(3] pamots) (This is exercise § in Schomng. ) A formuola 7 s called & (Togeesl]
conaequenes of set of formalas {F, Fs . Fi} if for every assignment 4 that is
suitnbile for ench of Fy, Fo, . Fi amd (7 it follows that, whenever 4 is a model for
Fy,Fs, .., FE, then it 1s nso o model for 7. [This s icbieated Fy, Fo, . Fi = &
or A p=i5.]

Show that the following sssertions are equivnlent:

1. & =5 nlogionl cosequence of Fy, Fs, ..., Fi
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2. (A Fy) —20F) is n tnutology: (Nlﬁ‘n ’ %.ﬁ Mr((r.w
3. ((nE IE-"'_. is unsntisfinble. e o M M—-—Jé(ﬂlbr.&l
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(Himt: Prove 1 -+ 2 -3 — -2, and 3 — 1.} O_
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Now, onp dor o svidbbl essiquuet 8 of £ £ .6
Wt o5 o kel o) Ff, 6 T afe)
(e Jor every  \élck, %7@ &[ﬁ £)=1,
%U(’, G e Q Dy~ (;Y;m( coni g eme p/ﬁ_) f’\:\,}
o(W)=1. So, &[N Fi-4) =1
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